Algebra 2 H Functions Worksheet

Identify : D (domain), R (range), f(3), Z (any zeros) and tell whether it is a 1-1 function. (Y es/ "No)
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Name: Class: ' Date: A ID: A
Multiple Representations P

Short Answer

1. Write f{x) in factored form:

?(x) (><+7)(><~5)

' 2. Given two functions: f{x) =-x"+3x
gx) =—4x+3

Answer the follo : ‘
. Find f{-1). )
. Which is greaé‘zg?) or g(0.5)? (A= A 9 (0.5)= |
Whenis flx) = 02 ~x*+3x O —> —X(X-3) = O =X =0,

Calculate the product of f{2) and g( (-3)= 15 —= 25
List the value of g(f(2)). 3 (2) K j ;

3. Write the equation of the line perpendlcular to the line determmed by the points in the given table and
passing through (-2, 1). Use point-slope form.
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